VORTEX VENTILATION – STASTICAL ANALYSIS
This report is tabulated using the Minitab analytical tool.
http://amstat.tandfonline.com/doi/abs/10.1080/00031305.1981.10479331#preview
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Two-Sample T-Test and CI: Trad(500CFM), Vort(500CFM) 

Two-sample T for Trad(500CFM) vs Vort(500CFM)

                N   Mean  StDev  SE Mean

Trad(500CFM)  202  14045  11396      802

Vort(500CFM)  207   8917   8064      560

Difference = mu (Trad(500CFM)) - mu (Vort(500CFM))

Estimate for difference:  5128

95% CI for difference:  (3204, 7052)

T-Test of difference = 0 (vs not =): T-Value = 5.24  P-Value = 0.000  DF = 361

Two-Sample T-Test and CI: Trad(800CFM), Vort(800CFM) 

Two-sample T for Trad(800CFM) vs Vort(800CFM)

                N  Mean  StDev  SE Mean

Trad(800CFM)  191  4610   6299      456

Vort(800CFM)  211  1460   2606      179

Difference = mu (Trad(800CFM)) - mu (Vort(800CFM))

Estimate for difference:  3150

95% CI for difference:  (2185, 4115)

T-Test of difference = 0 (vs not =): T-Value = 6.43  P-Value = 0.000  DF = 248

Two-Sample T-Test and CI: Trad(1200CFM), Vort(1200CFM) 

Two-sample T for Trad(1200CFM) vs Vort(1200CFM)

                 N  Mean  StDev  SE Mean

Trad(1200CFM)  194  4624   6708      482

Vort(1200CFM)  201   316    759       54

Difference = mu (Trad(1200CFM)) - mu (Vort(1200CFM))

Estimate for difference:  4308

95% CI for difference:  (3352, 5263)

T-Test of difference = 0 (vs not =): T-Value = 8.89  P-Value = 0.000  DF = 197

One-way ANOVA: Trad(500CFM), Trad(800CFM), Trad(1200CFM, Vort(500CFM), ... 

Source    DF           SS          MS       F      P

Factor     5  26280035232  5256007046  110.15  0.000

Error   1200  57261212026    47717677

Total   1205  83541247258

S = 6908   R-Sq = 31.46%   R-Sq(adj) = 31.17%

                                  Individual 95% CIs For Mean Based on

                                  Pooled StDev

Level            N   Mean  StDev  --+---------+---------+---------+-------

Trad(500CFM)   202  14045  11396                                     (-*-)

Trad(800CFM)   191   4610   6299             (--*-)

Trad(1200CFM)  194   4624   6708             (--*-)

Vort(500CFM)   207   8917   8064                        (-*--)

Vort(800CFM)   211   1460   2606     (--*-)

Vort(1200CFM)  201    316    759  (--*-)

                                  --+---------+---------+---------+-------

                                    0      4000      8000     12000

Pooled StDev = 6908

Grouping Information Using Tukey Method

                 N   Mean  Grouping

Trad(500CFM)   202  14045  A

Vort(500CFM)   207   8917    B

Trad(1200CFM)  194   4624      C

Trad(800CFM)   191   4610      C

Vort(800CFM)   211   1460        D

Vort(1200CFM)  201    316        D

Means that do not share a letter are significantly different.

Tukey 95% Simultaneous Confidence Intervals

All Pairwise Comparisons

Individual confidence level = 99.55%

Trad(500CFM) subtracted from:

                Lower  Center   Upper

Trad(800CFM)   -11422   -9436   -7449

Trad(1200CFM)  -11400   -9421   -7443

Vort(500CFM)    -7075   -5128   -3181

Vort(800CFM)   -14523  -12585  -10648

Vort(1200CFM)  -15690  -13729  -11768

                  --+---------+---------+---------+-------

Trad(800CFM)            (--*-)

Trad(1200CFM)           (--*-)

Vort(500CFM)                  (--*-)

Vort(800CFM)       (--*--)

Vort(1200CFM)     (-*--)

                  --+---------+---------+---------+-------

               -14000     -7000         0      7000

Trad(800CFM) subtracted from:

               Lower  Center  Upper

Trad(1200CFM)  -1992      14   2021

Vort(500CFM)    2332    4307   6282

Vort(800CFM)   -5116   -3150  -1184

Vort(1200CFM)  -6283   -4293  -2304

                  --+---------+---------+---------+-------

Trad(1200CFM)                        (--*--)

Vort(500CFM)                               (--*--)

Vort(800CFM)                     (--*-)

Vort(1200CFM)                  (--*--)

                  --+---------+---------+---------+-------

               -14000     -7000         0      7000

Trad(1200CFM) subtracted from:

               Lower  Center  Upper

Vort(500CFM)    2326    4293   6260

Vort(800CFM)   -5122   -3164  -1206

Vort(1200CFM)  -6289   -4308  -2326

                  --+---------+---------+---------+-------

Vort(500CFM)                               (--*--)

Vort(800CFM)                     (-*--)

Vort(1200CFM)                  (--*--)

                  --+---------+---------+---------+-------

               -14000     -7000         0      7000

Vort(500CFM) subtracted from:

                Lower  Center  Upper

Vort(800CFM)    -9383   -7457  -5532

Vort(1200CFM)  -10550   -8601  -6651

                  --+---------+---------+---------+-------

Vort(800CFM)               (-*--)

Vort(1200CFM)            (--*-)

                  --+---------+---------+---------+-------

               -14000     -7000         0      7000

Vort(800CFM) subtracted from:

               Lower  Center  Upper

Vort(1200CFM)  -3084   -1144    797

                  --+---------+---------+---------+-------

Vort(1200CFM)                       (-*--)

                  --+---------+---------+---------+-------

               -14000     -7000         0      7000
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Hood Index = -Log(Co/Ci)
